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ENGLISH

Question No. 26 to 27 - In the following
Questions choose the word which expresses
the OPposite of the given word,

26.  Withdraw ‘

)
(A)  Advance ®
(B)  Reduce
(C)  Need
(D) Want
27.  Blunt .
(A)  Sharpo ¢
(B) Dull N
(C)  Thick
(D)  Sober

Question No. 28 ‘to 30 : Find the correct
answer,

28. My sister is Qj] ....... MA.

(A) a
(B) anpo
(C) the”
(D)  None.
28,  .vecrens is the mother of invention.

(A)  Requirement
(B)  Necessity ¢
(C) Need
(D)  Solution. .
30, Name the part of speech underlined in

the sentence : "Dr. Rajendra Prasad

was a great leader."

(A) verb
(B) Noun ©
(C)  Adverb

(D) Adjective. _
Question Nos. 31 to 35 are blank : choose
the correct preposition and fill in the
blank to make sense :

C-July, 2018 Series~C

31, 1did not attend what he sz 4

(A} at
(B) to ¢
(C) on
(D) by
32, He dieq .................... Cholera.
(A)  from
(B) to
(C) for
(D) of. @
33.  lasked him............. some milk.
(A) to
(B) forQ)
(C) at
(D)  with.
34. lgotoschool ... foot.
(A)  ono
(B) by
(C). at

(D)  None of these.
35.  English is not ... easy language.

(A) a

(B) ano )
(C) the

(D)  None.,

Question No. 36 to 38 are blanks : choose

the correct article and fill in the blanks to
make sense.

36. .Ih€..... Ganga s a sacred river.

A) a
(B) an
(C) theo
(D) None.
37. Heis..M... European.
W the
B an
(C).  None
D) av



\' P,

38. It was ﬂ}’\' .......... excellent meal
last night.
(A) the
(B) a
(C) an v()
(D)  None of these.
39.  Write the synonyms of the word :
‘Alert'.
(A) Energetic
(B)  Observant
(C) Intelligent
(D)  Watchful. v

Question Nos. 40 to 45 : Choose the
correct preposition to make sentence a

meaningful one.
40. Sf)e was accused ..
(A) on
(B) from
(C) to .
(D) of O
I am angry
(A) on
(B) of
(C) tov
(D) at O

.............

41.

42.
this matter.

(A) onVv
(B) over(}
(C) to
(D) at
Please send
once.
(A)
(B)
(C)
(D)

iy, 2018 Series-C

-------------

3.

of

for 4 O
with
fo

| have no authority ...

..............

.............

the doctor at

44. The dog sprang ........... the cat
(A)  upont (O
(B) on
(C) to
(D) at
45, The hunter aimed ........... the bird
(A) atv O
(B) on
(C) to
(D) of
Choose the correct passive voice.
46. I know him..
(A)  He known by me.
(B) He was known to me.
(C) Heis knowntome.v O

(D)  He is being known by me.
Question Nos. 47 and 48 : Find the

correctly spelt words. /

47. (A) Influance
(B) Infalunce
< (C) Influence v O
(D) Infoluence
48. (A) Etiquate
(B)  Etiquette v 0
(C) Etiquete
(D)  Etiquatle

Question Nos. 49 to 50 : In the following
questions choose the alternative which best

-expresses the meaning of the given word.

49.  Predict
(k)/ Foretell &
(B) Decide -
(C) Prevent
(D) Discover
50. Destiny
(A) Luck
(B)  Lucky
(C) Fate ¥ O
(D)  Unlucky
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52.

53.

35.

USF R ©WEl & IR #1979
F 30 RN A IR W g
(v ®) 2 |

(A) 5043

(B) 15043 0

(C) 15042

(D) 75.

10 9. 5 3 99 F ™
F% W YR aa w21 39
Sl # TR (d, °) @

A) 52
5
(B) N
©) 1043
(D) 10v2 O

IR K, 2k-1 9 2K+1 TH WHIR
AN P FWERE, AKF
A 2

A 2

® 30

(C) -3
(D) 5. .
4x2+ Bx+3 F TGS §

(A) (x+1)(x+3)

B) (x+1)@x+3)0

(C) (x+2)(2x+5)

(D) (2x+1)(2x-3)

7 o0 e a el W IO
AT ¢

(A) 616cm? A

(B) 626 cm?
(C) 606 cm?
(D) 516 cm?.

C-July, 2018 Series—C

o1.

92.

(A

(©)

MATHEMATICS

The angle of depression of a car parked
on the road from the top of @ 150 m
high tower is 30°. The distance of the
car from the tower (in metres) is

(A) 5043
B) 15043 D
(C) 1502

(D) 75.

The chord of a circle of radius 10 cm
subtends a right angle at its centre.
The length of the chord (inrcm) is

5v2 O

(A)
5
® 7
(C) 1043
(D) 102 .

If K, 2k—1 and 2K+1 are three
consecutive terms of an AP, then
value of K is

A 2

(B) 3

(C) -3

O) 5.7

The factors of 4x2+ 8x + 3 are
(x+1)(x+3)
(2x+1) (2 +3)
2x+2)(2x+5)0

(D) (2x+1)(x-3)

The surface area of a sphere of radius

7@is
(Ak 616 cm?

(B) . 626 e
(C) 606cm?
(D) 516 cmz.

®
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I 99 $| Ha9 AM@........ T 2 | 56.

(D) ufify

32 x 34x 3B x 3% H gH B 57.

W 30
®) 3w
© 3w
(D) 3%

Tk =qS & @R Hi0 550, 70° sy | 58

85° %, @ en =vy
(A)  100°
B) 180°

.......... Huif
U\\LJ\%(\

(-1 \igod
S XK = 1ko

(C) 105° ‘
SStT164QS = 1\8
EIANEVATY

(D) 150°.("
=\Coms |
el 12, 15,21 &1 LCM d@ | —

(A) 204 1%
B) 402 |
(@~ 4200 [
(D) 120. =/ f

W@Wﬁ#'ﬂﬂj%l B

—n r2h ;7/

nrzhuef(ﬂ/;( |
2nrth@. -

1 |
(D) i r’h {

(A)
(8)
(C)

w

99.

Diameter is the longest ... .

circle, .
(A)  Arc

(B)  Chord

(C) Area

(D) Circumference.

Thevalue of 32 x 3*x 38 x 3845

(A) 32
(B) 3%
(C) 3%
(D) 3%

Three angles of a quadrilateral are

55°, 70° and 85°. Find the fourth
angle.

(A) 100°

() 180°

(C) 105°

(D)  150°.

Find the LCM of 12, 15, 21. I\ &
(A) 204 | | \
(B 402 o

(C) 420
(D) 120.
The volume of cylinderis .............
(A) %n r’h
®) nrh
(03 2n rh
©

PT.Q.




6L e 720 w1 v b v The cube root of number‘jzg is
T T
(A) 9 O Gy Y‘%_lﬁ_ AL b
e Ll % B) 3
RRORE LI TER 1] I
62.  Sin (90°-A)=? 62. Sin (90°-A)=?
Can W
(A) cosecA = (A) cosecA
(BY cosA\Q (B) cosA
(C) tanA = C"ﬂ i (C) tanA
(D) cotA. =(ten)f (D)  cotA.
‘ 4,1) &% = . Find the distance between the points
= NTIARY e o3 A"(\Z, 3) and B(4, 1).
# @ W Hw _
A) 42 (A) 442
B) 2v2 O ® 242
- €) 342 © 32
) 2 (D) 2
64¢ 64 1 T T Hiwl 64. Find the square root of 64.
| (A) 80 (9x9) & | (A) 8
(B) 4=/( - ®) 4
SRR AL
(c) 16-=%5 i M-
D) 2 =Y b5
: Lo 2
o 08 T "8 65.  find the Additive inverse of =
(A) o ) o
= 1
® 3 3 8
4 ; 4
€ - —
" e MY ‘ w s o,
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66. Wﬁ{2x-(x+3)=5,ﬁ\1x‘7ﬂqm%:

A) 2
(B) 3
(C) 5
(D) 8

67. A fRu My sl F Weww

Hife:

16, 24, 14, 10, 20, 14, 15, 21

(A) 15
(B) 16
(Cy 1550
(D) 16.5v

68. 92+ [18+4{6+(12-11)}] F1 M :

Ay 20
B) %
) 1
(D) 0.

. et et # god 5 WAL,
0. gﬁ‘.ﬁ,'a’tﬁgam

12 gt @en 13 9
st (42 ) &

Ay 30 0

B) 20

(C) 40

(D) '35

70, 3x/3% 1A

(A) 188 &

(B) 288
(C) 388

o 198 () 19
7 b4 { ,“J; F 7

fldfm% 201 8-Series—d'-";’? 61

L Aoy
-

(o
1

)/
30

66.

67.

68.

69.

70.

If 2x - (x + 3) = 5, then the value of
X is

(A) 2
(B) 3
(C) 5

(D) 8
Determine Median of the following

data:
16, 24, 14, 10, 20, 14, 15, 21

(A) 15
(B) 16
(Cc) 155
(D) 16.5

The value of 92 + [18+4{6+(12—11)}]
is

(A) 2

(B) %

(c) 1

(D) O.

If sides of a triangle are 5cm, 12 cm
and 13 cm, then the area of triangle

(in cm?) will be

(A) 30

B) 20

(C) 40

(D) 3.

The value of /99 x+/396 .is
(A) 188

(B) 288

(C) 388

(D) 198.
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12

73

74.

13.
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(€)

(D) 8.0

fadt = +1 s 1331 I R
TOH TF Fold H Q% ©

(A) 119

(B) 12182 ()
(C) 11192
(D) 131 9@

o ® TF W AR TH el w1
g @

A 1:¥2 D

®) 3:42

©c 2:1

D) 2:3.

I wF 100 W = W@WE 200
T, TR eHH @l 10 ¥HUE H IR

woft e AsglemS M [

‘ )
- (©
L)

A) 30 HAFTS 0 O
(B) 10 Hi./4HTS
(C) 40 HARTS
(D) 100 H./AHTES |
Yo § v W GEme H M
(A) 16
B)~ 8 0
(,) Tt
by 9

10

71.

72,

73.

74.

75.

A -8
1
(B) B
-1
) 3
(D) &
A cube has a volume 1331 cm®. Area
ofits one face is
@A M cm?
(B) 121 cm?
(© M1cm?
(D) 131 cm?

The ratio of a side and a diagonal of
a square is

(A)  1:42
(B) 3:2 .
c) +2:1
D) +2:3.

If 100 m long train passes a platform
of length 200 m in 10 seconds, then

v

the speed of the traln 1)»,

(A) 30m/s ‘ J—
10 m/s e
40 m/s
100 m/s. |

Tr& median of first 8 ‘odd natural
Jmbers is

16



GENERAL KNOWLEDGE

| T -
(A)  Mgo T T2 76.  What is the formula of Magnesium
C) N (A)  MgO
aCl | 3
D (B) MgCl,
) MgSo, (C) NaCl
TR e i § ey 22 (D) MgSO,
(A) T 77.  To which class of Animals do Bats
(B) qefy belong?‘
© wERO o e
(D) W () Mammals
= TS A AW A? (D) Reptiles.
A) o O 78.  Old name of Beas river was?
(B) hIfelal | " (A) Bip?SEf
o 0 ks
©) R zD; S:erru -
qremEd feg @ W R feerd 37 | 79.  On which river bank Taj Mahal is
(A) 'Cl'{:fﬂ O situated?
() M (A) Yamuna
(C) NIKELRY (8) Ganga
(D) Tr,_r,ﬁ ((([-;) (;odavar'\
sg,ﬁqﬁﬂmm@mmmso |)h:‘“
T e el T ferd 3 . In which place Himachal Pradesh -
P C a ~ Public service Commission Office is
) ' situated?
(8) TR (A) Shimla
) W (B)  Hamirpur
oy o (C) Solan
3, Feew WR & wad FH HER (@ Una.
Il m Eﬁﬁ«’m %7 81. Which is the lowest literate Distl. in
&~ = A Himachal Pradesh?
(B) HrTEl (A) Chamba
{C) m‘, . (B) Kangra
_ (‘3} m ' (C) Hamirpur
EL I ' (D) Una.
T, 2018 Series-c 1 P.T.0.
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g

84.
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(B) US#IG HIeAAF: Hal HWAH
(C) TSR WreAH« Tal  Af9dr
(D) TR AR e Afqam
ferreel ¥e9 A fauA w9 % A A £
®w 680

(B) 67

(C) 69

(D)  66.

fearad w5w % Tod foe 9 saiwg
‘T Fell’ F gEY 27

W == O

(B) fawm

(C) Temmem

(D) TUE .

TR el 4 HTel Tael % fFg
AT =1 dre AR A’

VI EE U S

(B) El A=t

(C) =TSl A

(D) AN <& "=

femrm ¥ % TR T o) o am 87
(By A gwm TEE O

(8) A M= I

(C) 4t Si= %

(D) #i W M I 7
feaee 5w % f68 o9 d ==
T S 87

By moEl O

(8) faammq

(C) ieH

(D) =HI

AR TATHY, F U AW 27 )
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82.

83.

87.

At
Name of the present Education
‘ster of Himacral Pra adesh 187

An
(4)  Sh. Suyresn o i"ar I 43
8y Sh Goving Tha«ur
¢y Sh Virender amvar. |

ier Singh Thaeur
‘D) Sh. Manender SIng "
\n which District of Hima chal Praces
where salt is foundes?
(A) Mand
(B) Bilaspur
(Cy Solan
(D) Chamba.
Full form of RM.S.A.7 |
(A) Rastriya Madhyamik Shiksha

Abhiyan

(B)  RajkiyaMadnyamik SevaADl hiyan
(C)  RozgarMadhyamik SeyaAbniyan
(D) Rastriya Maotor Shiksha Abhryan.

How many Vidhan Sabha ssafs are
there in State of Himachal Pradesh?

(A) 68
(B) 67
(C) 69
(D) 66.

International famous "Rumal Art”
belongs to which District of Himacha|
Pradesh?

(A) Chamba
(B)  Sirmour
(C) Shimla
@) Mandi.
: !jehmood Gajnavi looted and broke
w?hich temple in Kangra Distt.?
‘ @) Vajreshwari Temple
(B) Naina Devi Temple
(C} Chamunda Temple
(D) Jawala Devi Temple.
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93.

A
(A) 2005 .
(B) 2003 °
(C) 2002 j
1(;:):{ 2000 o
¥R T \
TSl T 7 T R
&y Teeelt A
(B) Um&
(C) Efamm
(D) S
7SI S AL
(8) TR '
(c) f&m feer
(D)
foyeran foame & w4 § W fRE
urfra faan man?
(A) 1756
B) 1764
(c) 1850
( 1856. O
59 1867 H ‘e TH' 1 EA
el €7
By = =) O
) e
©) % (FEH)
(D) AR
‘ dufere fafsceh
wEifereyA’ & R g 17
w W fEE O
) foatsm T
(C) THT. T3
oy foten wd
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88.

89.

90.

91.

13

92.

a3.

When did R.T.E. camé 0 axistence?
(A) In 2005
(B) In2003
(C) In2002
(D)  In 2000.
Which of the following s not
neighbouring State of H.P.?
(A) Delhi
(B) punjab
(C) Haryana
(D) uttaranchal.
What is the State bird of H.P.?
(A) Western Tragopan
(B) " Peacock
(C) King Fisher
(D) Monal.
passed in

In which year the Law was
favour of Widow marriage?

A 1756
(B) 1764
(C) 1850
(D)  1856.

In which place "Prarthana Samaj”
was established in 18677

(A) Bombay (Mumbai)
(B) Aligarh

(C) Chennai (Madras)
(D)  Amritsar.

Who esta blished "Hindustan Socialist

Republican Association"?

(A) Bhagat Singh

(B) Chitranjan Dass

(C) M.N. Roy
Vinoba Bhave.

(D)
P.T.0.
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(C) =
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94,

95.

96.

97.

98.

99.

100.

- @

In which of the following *Chwistmas |
Festiyal” is celebraied in Summer?

(A) Japan
(B) India

(C) Australia
(D) Nepal.

Inwhich Ocean "The Mariana Trench®
lies?

(A) Pacific ocean

(B) Indian ocean

(C) Arabian ocean

(D) Mediterranean ocean.
"World's Highest plateau” lies at
(A)  Tibet

(B) India

(C) Australia

(D)  Alfrica.

What is "ISRO" ?

(A)  Indian space Agency

(B) French space Agency

(C)  American space Agency

(D)  China's space Agency.

Which is the "Oldest Trade Fair" of
Himachal Pradesh?

(A)  Bilaspur's Nalwar
(B)  Kullu's Dushera
(C) Rampur's Lavi

(D)  Chamba's Minjar.
What is "Karyala" ?

(A)  Play
(B) Temple
(C) Cloth
(D) Religion.

’ﬂravatl is the Sanskrit name ¢
\&hnch river?

Beas
(B) Ravi
(€) Chenab
0)

Yamuna,
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